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| BRESHEHISANG || g, | 1BSY 1850 | 1 EROKEHE | 1 EROBETE
No.| Z | wEps |B| HATEMERE 2o | BOMECS | BatHES | CSEMICLD | SHEMIZED
| & X [Ba/kel K /éﬁ EmME | ENE | ABEIEKKRE | REBHEIEKRE
2 & [Ba/B] | [Ba/H] [mSv] [mSv]
_ _ Cs-134|Cs-137] Sr-90
1| B | #ETH |1 |[FRE|TRE|TRE 1.1 BHEIWT|BEHSAT| BEHIAT BHahT
2 | Bdv | 2B [ 3] 0029 013 |FiEH 1.4 022 |BHIhT 0.00084 gHand
3| Bdv | ZA#m| 5] 0095 [ 055 | 0.022 3.1 2.0 0.068 0.010 0.0020
4 | Bk [ ZAK#H | 5 |FEHE]| 012 | F&H 1.7 021 |BEHIhT 0.00099 BHIhT
5 | 183k [ FFEh | 4| F%&H] 0024 | FEH 1.8 0.043 [HEHZINhT 0.00016 BHINnT
6 | Bk | &Et [ 5 || FeH[FgE] 24 |gdsnd|gHahd] BEHIAT | EHEIWT
7 | Bd | XK= | 5 || 0053 [F&EH 2.6 014 [ZEHxhd|  0.00065 gHIhT
8 | Bt | A= [2] 0084 | 048 |[FiEH 15 087 |&EHZNT 0.0040 gHIhT
o [ Bdv | Fiphr | 3] 0.062 [FEH 2.1 0.13 |&HIhT 0.00046 gHIhT
10| Bik | Firlr | 2 |F&H] 0029 | F&H 1.1 0.031 |&HENT 0.00013 EHahT
| Bid | ERE | 4] 0062 ] 027 [ 0035 1.2 0.41 0.044 0.0016 0.00096
12| Bd | ERA [4|F-BRE|FHH] 0.043 0.70 |&EHEhd| 0.030 FHang 0.00066
13| Bik [ JIMRET [ 4 || 0.043 | & 1.2 0.051 |BEHEhT 0.00019 EHIhT
14 [ B4k [ JIMEAT | 4] 0.23 1.4 | 0.022 2.6 42 0.057 0.016 0.0013
15| Bk | XEF | 3|F#EHE]| 0026 [FEH 2.0 0.052 |&HEhF| 0.00018 BHIhT
16| Bdt [ XEH | 3| FRBRHE[TFRE[FHEH 14 |BEHIhT|EHIWT| BEHIAT EHIhT
17| B [ BRiuth | 5 | R FTEE[FTEH 1.9 |[BHzhF[gEHshS| BEHShT | EHEShT
18| Bep [ EUth [ 3|AF#EH]| 014 | EH 15 021 |BHZhT 0.00074 EHahT
19| Bep [Z8E)IITH | 4 | F~#&H] 0.064 | T &H 1.9 012 |BEHIhT 0.00043 BHIhT
20| Bch | Z8&)IIth| 5] 0.033 [ 0.097 | 0.022 24 0.31 0.053 0.0017 0.0016
21 | B | A#H [ 3]F#EH] 0039 |[FEH 2.2 0.086 |&EHEhF|  0.00030 gHahg
22| Bch | ENTTH [ 3]F#H[ 0054 | 0.027 1.6 0.088 0.044 0.00031 0.00075
23 | B | $BR 4 | =] 0041 |[FigH 1.7 0071 |&HEhF|  0.00026 EHIhT
24 | Brh | SERET [ 4]|FRE|FARE|FAREH 1.3 |gHashTFlgdahd| BHINT BHanhd
25 | B | XEH | 4 |F&HE] 0047 [FBH 1.7 0080 |&HENT 0.00029 gHEhd
26 | Boh | XEHM | 3]|FEH] 0073 | FHEH 1.7 0.13 |&HIhT 0.00044 EHahT
27| Bch | FHJIEBT [ 4]|F%H] 0063 [Fi&aH 15 0.097 [#HEhd[  0.00035 BHINT
28 | Beh | RIIET [ 4]|FE|FHRE|FHRH 1.7 |[EHzhT|EHahd| BEHINT gHahg
29| Bep | EJIA | 2 |F#&HE]| 015 |FA~EHE] 0.90 0.13 |BEHIhT 0.00057 BHxnd
0| B | FJIF [ 3]FEHE] 0042 | FiEH 1.8 0076 |&EHEhF|  0.00027 gHIhT
31| B | FEHN [4|FBH[FARE|THEH 10 |gHashTF|gEHashd| BHINT gHahd
32| B | FEAF | 4 |F%&HE] 0039 [FEH 1.2 0.048 |&HENT 0.00018 gHand
33| Boh | 2)IET | 4]7F#H] 015 |F4&HE] 0.80 012 |BHzhd 0.00045 EHanhT
34 | Boh | GRNIET | 3 |FARH[FHRE|FHEE] 090 [BHIhT|[EHShT| EHINT EHahT
35 | Boh | HERET | 4 |F4&H] 0.041 [FH&RH 1.9 0.078 [EHZIhT 0.00029 BHInT
36 | BErh | HERET | 3| %] 0.036 [ FHRH 2.1 0.077 [EHZIhT 0.00027 BHxn
37| Brp | =&FHAT | 4 |F4#H]| 0058 | FEH 2.4 0.14 |BEHIhT 0.00051 BHxnd
38| BEch | =FME | 2 |A&EHE] 011 [FHEH 1.7 019 [ZEHahd 0.00081 SHand
39 | Beh | /EFHT | 5 |4 H] 0.048 | HEH 2.0 0094 |&HEhF| 0.00044 gHIhT
40 | Beh | /NEFET [ 5 |ABH | FRE|THRH 24 |BEHIAT|EHIAT|] BEHINT gHahg
41 B | Bidm | 3|F#&E]| 012 | 0.037 2.4 0.28 0.088 0.0010 0.0015
42 | B | Bl | 3| A 017 [FEH 1.8 0.30 |BEHIhT 0.0010 BHIWT
43 | B | A | 3| 4] 0099 | FREH 1.5 0.15 |BEHIhT 0.00053 BHInT
44 | B | #mEH | 3 |4 HE] 0.075 | 0.026 1.9 0.14 0.049 0.00050 0.00084
45 | B | R | 5 |FEE] 012 [FEH 2.3 027 |&HIhT 0.0013 BHEIhT
46 | B | RIGH [ 3|A#&H] 0057 [FHEH 1.2 0.066 |&EHEhF| 0.00023 BHIhT
47| B | B [ 4]|F4H] 0079 | 0.062 0.80 0.067 0.053 0.00024 0.0012
48 | B | B [ 4]|FEH] 0022 [FHEH 2.0 0.044 |&HEINT 0.00016 BEHINT
49 | By | KWkl | 5 |FEE]|FEE] 0.026 20 |EdHEhd]|  0.051 FHang 0.0015
50 | B | KMRET | 5 | AF4&RH] 0.049 [t H 2.3 011 |BEHIhT 0.00054 BHIhT
51 | IBF | HHESHET | 5 |+ H| 0.086 [t H 1.5 0.13 |&HZhd 0.00062 BHIhT
52| Brg | iR | 3| F#&H]| 0049 | FEH 1.2 0.057 |&HEhY|  0.00020 BHand




| BRESHEHISANG || g, | 18501850 | 1EROKEHE | 1 EROBETE
No ware B BAHEMEERE SEg | MEHMECS | BEHESr | CSEmICLD | SHEMIZED
: X [Ba/kgl K /éﬁ Em=E ElRE | IBHIE<EE | HBHIEGE=
2 & [Ba/B] | [Ba/H] [mSv] [mSV]
_ Cs-134| Cs—137| Sr-90
53 KM | 4 || 0035 [FRiEH] 2.3 0079 [#H=h<[  0.00029 BHINT
54 REHET | 4| ]| 0027 | 0.036 1.3 0.034 0.046 0.00013 0.0010
55 iIShr | 5 |FABH[F#RE] 0.062 1.2 |#EHEhT| 0.076 EHang 0.0022
56 =1} 4| F#HE] 0065 | Ft&H 2.2 0.14 |BHIhT 0.00052 EHaNhT
57 g% | 3|FEE| 011 [FEH 20 022 |BEHIhT 0.00077 BHINT
58 w®)IF | 4 |F#&E] 0029 |[FEHE] 2.3 0.068 [EHEhd[  0.00025 EHIhT
59 £z 3| EE] 0021 |[FigH 1.8 0.037 [#H&Eh9[  0.00013 gHIhd
60 £zeEwd| 5 |[FAEH] 0073 [FREgHE] 2.2 016 |&EHZhF| 0.00077 EHENhT
61 EZA5h | 3|A#EE] 0070 [FEH 14 0.099 |&EHENT 0.00035 gHIhT
62 E%ZA5m|[5] 0072 | 038 |[F&H 2.3 1.0 |BEHZhT 0.0052 gHEhd
63 :ti’aﬁazr 4| &H] 0070 [FEH 1.1 008 |&BHIhT 0.00029 EHahT
64 JdiEEF | 4 |FEH]| 0072 |FAEBH 2.3 017 |BEHIhT 0.00061 BHINT
65 <2 | 5 [RA&H] 0023 [R&EH] 3.0 0.068 [&H&Ehd[  0.00032 BHINT
66 23207 [ 3 [FEE] 0071 [FEH] 1.7 012 [&HEh$|[  0.00042 EHEING
67 aepelr | 5 | RA&H] 0025 [FAEH] 2.6 0.066 |&EHEhF|  0.00031 gHIhT
68 ¥amh | 4 |F8H] o010 [F#£HE] 070 0071 [#H=hs[ 0.00026 EHENhT
69 HEAHET | 3| At H]| 0.047 | 0.024 1.7 0.078 0.040 0.00027 0.00069
70 Al S B I B 10 |BEHanT|&dand| EHIhT EHIhT
71 il e ES s ES A 1.3 |BHIhT|BEHIhT| EHINT EHahT
72 SIIF | 3|FM&E] 0049 [F#EH] 22 011 [&HEhd[  0.00039 FHaINT
73 ST | 4 | B H] 0.054 | A& H 1.6 0.086 [HEHZINhT 0.00031 BHxnd
74 HI;ERT | 4 | A+#&H] 0.052 [~ H 2.1 0.11 |&EHIhT 0.00040 BHEINT
75 n;EmT | 3] 0051 [ 0.31 |FiEH 14 052 |&EHIhT 0.0019 EHIhT
76 =B [ 4|FHH] 0052 | 0.041 0.80 0.042 0.034 0.00015 0.00074
77 =28 [ 5] 0027 ] 011 |F&H 2.8 0.38 |BEHINT 0.0020 BHINT
78 £IUAT [ 3| FHH]| 0.069 | 0.032 0.80 0.054 0.025 0.00019 0.00044
79 REF04f [ 3] 0026 | 0.12 | 0.033 1.9 0.28 0.062 0.0010 0.0011
80 RBFEAT [ 4 | F4#&H| 0.085 [ 0.036 2.3 0.20 0.084 0.00072 0.0018
81 22 87| 5 | A& H] 0042 [FigH 1.8 0.074 [EHZIhT 0.00035 BHEINT
82 £FEERT 5 |[AH&HE] 011 | 0.024 1.7 0.19 0.041 0.00088 0.0012
83 TEET | 3| FRRHE|FRE[FEE]l 22 [gdahd(gdans| BEHEIhT | EHInd
84 TET | 5 | ] 0021 [FREH] 24 0051 [#dHahs[  0.00024 EHEhT
85 ERIEF | 4 | L] 0030 [FiEH 2.0 0.059 |&EHEhT 0.00022 gHIhT
86 BRI | 3| ] 011 [ 2.3 0.25 |&BHIhT 0.00089 EHahT
87 meEeT | 4 |F&E] 0023 |[FEH] 25 0.057 [&HEhd[  0.00021 BHINT
88 EEE | 4 | FRE[TRE[FRE] 16  [gHahTF|Edshd| EHShT | EHIhT
89 HEST | 5| FEH| 0056 [FEHE] 1.9 011 [&HEh$[  0.00051 EHEING
90 HEM [ 4]|F%HE] 0023 [FEHE] 27 0063 [#HEhd[ 0.00023 gHEhd
91 FEHEET [ 4 |FHBH] 0067 [FEHE] 20 013 [ZHahd|  0.00048 EHIhT
92 FEEET | 2 | A& H[ 0.058 | F#&H 2.3 0.13 |&HIhT 0.00059 gHIhT
93 [GEFET | 3 | R || 0.022 1.9 |gdHahd]| 0.042 gHand 0.00072
94 ILEFRT | 5 | A& HE] 0.052 | F#EH 1.7 0.087 |BEHIhT 0.00041 EHahT
95 JIR#A | 3| F+H| 0.066 | F#&H 1.7 0.11 EHzng 0.00040 BHINT
96 JIIARA | 4 | 8] 0.023 [T 1.9 0.043 |EHEhJ|  0.00016 gHahg
97 BT | 4 | HE] 0032 | FEH 1.8 0.057 |[EHZIhT 0.00021 BHINT
98 ZiiEr | 5 | A& H] 0.062 | FEH 1.5 0.090 [#Ha=hd[ 0.00043 gHIhd
99 Wbh=i | 3] 0026 [ 0.15 | 0.033 25 0.43 0.082 0.0016 0.0014
100 Whed [ 4| T 014 [FHRH] 1.2 017 [&HEhd|  0.00064 ZHshd




